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P 100kN/m%& 25| 1.00 | 000 ~ 046 10680 |3mZz#z3| — ~ — — — | 100kN/mM%&#z25 | 1.00 | 1053 ~ 11.80| 106.80 |3mE#BZ5 - ~ — — —
zhst 1.00 | 046 ~ 824 100.00 | Ths o000 ~ 824|218 11.04 zhst 1.00 | 6,00 ~ 1053 100.00| FhLS | 5,00 ~ 11.80| 2.18 11.04
2 100kN/m%E#B25 | 1.00| 000 ~ 239| 13740 |3mZz#Bz25| — ~ — — — | 100kN/m%x#%25 | 1.00 | 10.72 ~ 2257 13740 |3mE#BZ5 - ~ — — —
FhLst 1.00 | 239 ~ 1018 100.00| NS | 0.00 ~ 1018| 2.60 1312 st 1.00 | 6.00 ~ 1072 100.00| FnLS | 6.00 ~ 2257 2.60 1312
3 100kN/m%x#25| 1.00| 000 ~ 1.12| 11689 |3mZz#Bz5| — ~ — — — | 100kN/mM%E#8%25 | 1.00 | 11.44 ~ 1614 116,89 |3mE#BZD - ~ — — —
Thilst 100|112 ~ 891 100.00 | =hst | 000 ~ 891 2.18 11.00 Thilst 100 5600 ~ 1144 100.00 | Thbst | .00 ~ 1614| 218 11.00
4 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 740 94.48 | =St | 000 ~ 7.40| 201 10.18 s 1.00 | 5.00 ~ 1020 94.48 | =hS | 6.00 ~ 1020 2.01 10.18
5 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 4.69 5845 | =S | 0.00 ~ 4.69| 1.83 925 ThList 1.00 | 5.00 ~ 56.00 58.45 | =N | 5,00 ~ 5,00 1.83 9.25
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




